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	Module 6: Lesson 3 ASSIGNMENT

This Module 6: Lesson 3 Assignment is worth 17 marks. The value of each assignment and each question is stated in the left margin.


	(17 marks)
	Lesson 3 Assignment—Multiple Alleles and Incomplete Dominance Crosses


	
	Lab


	
	
	Observations



	(5 marks)
	1.
	In the Gizmo on Chicken Genetics, click on the “Copy Screen” button near the bottom right and paste the resulting image (heterozygous cross) in the answer box below. 



Answer:

	


	
	
	Calculations


	(1 mark)
	2.
	Based on the heterozygous cross above, what was the expected ratio of red : red/ white : white offspring?



Answer:

	


	(2 marks)
	3.
	What actual numbers did you discover from your 100 crosses? How do these numbers compare to the expected ratio?



Answer:

	


	(2 marks)
	4.
	If possible, compare your results with other students. In the group, what were the average percentages of red, white, and red/white chickens? Are the total group results closer to the predicted percentages? Why do you think this is the case? (Note: If you are unable to combine your results with the results of many other students, you can create a larger sample size by breeding 1000 or 2000 chicken offspring yourself.)



Answer:

	


	
	Conclusions 
Answer the following questions about the simulation you carried out.


	(2 marks)
	5.
	Complete the following Punnett square 

	
	Parent 1


	Parent 2
	
	FR

	FW

	
	FR

	
	

	
	FW

	
	


	(2 marks)
	6.
	When a homozygous chicken (white or red) is bred to a heterozygous chicken (red/ white), approximately what percentage of the offspring will be homozygous? What percentage will be heterozygous?



Answer:

	


	(3 marks)
	7.
	Are there any combinations of parent-chicken genotypes that produce red offspring and white offspring, but no red/white offspring? Explain why or why not.



Answer:

	


	Once you have completed all of the questions, submit your work to your teacher.





